A2

| haven't seen him a month.

Answer:

He has been studying English six months.
Answer:

She has been working at the company 2015.
Answer:

We have known each other childhood.

Answer:

They have been friends they were in kindergarten.
Answer:

| have been waiting for the train 20 minutes.
Answer:

She has lived in London she was born.

Answer:

| haven't been to the gym last week.

Answer:

He has been learning to play the guitar he was a teenager.
Answer:

They have been married five years.

Answer:




Answers

| haven't seen him a month.

Answer: for

He has been studying English six months.
Answer: for

She has been working at the company 2015.

Answer: since

We have known each other childhood.
Answer: since

They have been friends they were in kindergarten.
Answer: since

| have been waiting for the train 20 minutes.
Answer: for
She has lived in London she was born.

Answer: since

| haven't been to the gym last week.
Answer: since

He has been learning to play the guitar he was a teenager.
Answer: since

They have been married five years.
Answer: for



